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Variables and Expressions

Below is a pattern made up of hiangles, each with a side Ieng’rh of 1.

1. Draw the next three figures in the pattern. A—I / S 2 S ;

2. Find the perimeter of each figure and record your dafa in the table like the ones shown
below.

A | 5 | ¢
b | /1K

Number of Triahgles
Perimeter 3

BN
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Check by making the drc:wmg i E 5 P QJ( Hvi.e. {n@{f* /2,
oy
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4, Find the relationship between the number of triahgles and the perimeter at eqcflf’_r_ggguof

the pattern. Write sen‘re ce abouf what you cbserve.,
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A VM 1 &Mﬁ/ is a symbol that represents an unknown 'qmﬁ#@ ﬂ] UM"’h ’:'j .
An zﬁM ’ A % [ G ESS] f‘ contains variables, numbers, and at legst

one opelﬁhon Write an &gebrolc expression to represent the perlme’fer if we hod n humber

offiongles AN L AT AT )
Evaluate each expresslon below I@an@i@ »5% m UQ " ”, HDW S‘:U‘ﬂfﬁ'fl f h DA/ ”
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In algebra, the muttiplication sign is often omitted. For exar o=_ 6d, 9st, mn. The numgﬁiéal

factor in an algebraic expression is often called the O —> Q 0{/
Evc:fucz 5 —~2vifw=5andv=3. Evalu,fe”Q)éj 2 n} 3.
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Evaluate each expressionifa=4and b = 3,

Qa - 6b 202+ 5 a+-7 b - (-3}
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'Evaluate each expression ifa = 3 and b = 5.

a+7 8-b b-a a-b ab

,,%{; The standard formula for finding your maximum heart rate is 220 - a,
where a represents the persons age inye {s What is your maximum

hearfrate? () =— ﬂ UU mﬂ ¢!

The expression 5n + 2 can be used to find the total cost in dollars of bowling
where n is the number of games bowled. How much will it cost Vincent to

bowl 3 games?

, A . .
A nurse can use the expression 110 + > where A is a person's dge, to

estimate a person's normal blood pressure, Estimate the normal blood
pressure for a 16-year old.

Evaivate each.expression if x = 3.2, y= 6.1 and z = 0.2,
‘ ”q{ 8-y +X y—-z+5
{(Z 2>+ 0 , - (06 Z)

',7) _Complete each table.

Qucirts Gallons
.| (q) 4 Dolicrs Quarters
!‘""”7“' 4 {d) (4d}
i 4 j 4 .E 'i 4
2 6 1.5 2 8
o 8 3
S 10 4




